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Identify the water harvesting system in Western Himalayas. ARMA
aftasht RreTerr o ST W # Tga F Y S
1. None of these
2. Johads
. Khadi:
cus/kuls
‘Practised more in regions
-In Rajasthan where the rate of
-Khadins: Jaisalmer evaporation is less
-Johads: Other parts
of Rajasthan
-Taanka: Bikaner, Rajasthan Gandhi marched with 78

delegates->240 miles

Then Viceroy

The Gandhi Irwin Pact included which of the following?

1. The Pact proposed another round table conference to discuss the agreements . Sa'f Safgagmha/‘Dandl March 12

reached in the first.

2. The Indian National Congress was to withdraw the Civil Disobedience March_6 Apn' (24 days)

Movement immediately and effectively in all respects.

3. The boycott of British goods would also be withdrawn forthwith. The . . . .
Government will not condone breach of the existing law relating to salt ‘From Sabarmaﬂ fo 'Dand|

administration and would the Salt Act be amended
4. The Government will not condone breach of the existing law relating to salt
administration and would the Salt Act be amended.

Which of the statements above is/are correct?

Only RTC where Congress aur Gandhi
participated

v/ 1 23nd 30y 22,3 and 4 only -1st Round Table Conference: 1930
-2nd Round Table Conference: 1931

3. lonly 4.3 and 4 only

-1929: Delhi Manifesto by Congress to — Irwin
‘Dominion status
+1929: Lahore Session —>Presided by J L Nehru
‘Poorna Swaraj as goal

To launch CDM 26 Jan 1930: first Independence Day
celebrated and flag hoisted on the banks
of Ravi river

- 31st Jan: Gandhi’s 11 demands put forward by Gandhi

(Gandhi-lrwin Pact signed) —Gandhi
agreed to end CDM

’

*Right to make salt in

coastal villages for personal
uses

-Remission of all fines, not

yet collected

- Return of all land, not yet

sold to third-party

‘Presided by Sardar Patel
-2nd RTC endorsed in Karachi Session—~Resolutions regarding TRs and National
Economic Policy accepted, meaning of “Poorna Swargj as a goal” mentioned



Which of the following about the God: i river are correct? =

1. The river rises in the Sahyadmhwar in the Nashik district of

Mabharashtra.

2. At Dowlaiswaram, the river divides into two branches, the Gautami and
Vasishta.

3. The Gautami branch joins the Bay of Bengal flowing through the Yanam enclave
of Union Territory of Puducherry.

W. On the north, it is bound by the Balaghat and the Mahadeo ranges stretching
forth from the eastern flank of the Western Ghats.

Vyh of the statements above is/are correct?

Only1,2and3 2.0nly3and 4
3. Onlyland2 4.0nly1,3and4

Western Ghats in Maharas

sindphana

Flowing above Balaghat Range

Old fold mountains
o | AR e ],

« Yanam
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A i ; -Young fold mountains: The Himalayas

,:’E;ﬁ 3 P - Longest mountain range in the world:
Andes

-Highest peak of Aravalli: Guru Shikhar

Part of Peninsular Plateau



" Which of the following statements are correct regarding composition of the
State Legislative Council?
A. The maximum strength of the Council is fixed at one-third of the total
strength of the Assembly. ARMA
B. The minimum strength of the Council is fixed at 40.
C. Atotal of -5 of the total number of members of a Legislative Council are

*

6 indirectly elected and bers are i d.D.The
(nominated members) made by the Governor can be challenged in the
court.

1. B, Cand D only

24A, B and D only
. A,Band Conly

4.A,B,CandD

-1/3rd member: elected by State Legislative Assembly

-1/3rd member: elected by Local Bodies

-1/12th members: elected graduates of at least 3 years

-1/12th members: elected by teachers

-1/6: Nominated by Governor in the field of LISAS + Cooperative Society

Li: Literature

S: Science

A: Arts

S: Social Service

"~ What is the meaning of Zakat in Islam? =
e e o -Raksha: Dance
e N e “Fanah: Self annihilation
3. Prayer: 3. wrfer . .
. pigimage 4 ¥ T - Sama: Musical recitals

Ziyara
Salah

In the east and central India, the Mauryas were succeeded by whom?

& 3R e R # it saufted #a an

I The Sungas
Il.  The Kanvas

. Neither I nor Il
Only1
Only Il

1
2.
3.
wBoth land Il

After Kanvas: Satvahana Dynasty

Founder: Simuka

-Famous ruler: Gautamiputra Satkarni
-Ruled during late 2nd Century
-Rivals: Sakas



7. Match the animals in column A with the phylum they belong to in column B *
Column-A Column-B *
T o - Father of Indian Ecology: Ramdeo M\ PARMA
ii. Cray fish b. Mammal s
iii. Whale fish c. Insect . .
jv. Devil fish d. Coelenterat Cndana

4|d||a|||b|v:

Octopus
Silver fish: Arthropoda
-2nd largest phylum

-Sof't bodied animals
“tg: Oysters

Characteristics of Arthropoda

o Largest phylum in animal kingdom

o They have jointed legs

o Bilateral symmetry

o Segmented body into head, thorax/cahals thorax, abdomen
® Open circulatory system (blood openly flows; not through a blood vessel)
e Coelom is present and is blood filled

* Triploblastic

o Respiration through gills, trachea

® Excreation through Malpighian Tubules

o Exoskeleton is made of chitin

® Unisexual

o Tg: Crabs, scorpions

-Star fish: Echinodermata—>Spiny skinned animals

-Notochord —=Rod like structure
*Those having notochord —Protochordata

'Consider the following pairs and identify which of the following pairs of religious 3 1 Samhlfa co"ecﬁon of H!‘,'nns . pa'a _»Versua
texts and associated religions are matched correctly. : : o
RrrfaiRre sy v R #¢ it agamnt R arfifes w4t i dafive aait 1 Pefara 3 7 ifi i
et s e R e 2. Brahmans: end of Vedas; sacrifices and rituals
1. Aranyakas- Hinduism 1. 3ROE- %(qu A 3. Aranyakas: Hermits Clive in jungle)
2. Agam Sutras - Buddhism, 3. T e 4. Upanishads: knowledge gain

4. Tripitaka - Jainism 1. Pftes- e et 600 BC

3 and 4 only
1 and 2 only

3. 1,3and4only
4. 2and3only

Also known as Vedanta
108 Upnishads —>Traditional
Main: 10

‘Biography of Guru Nanak

-Associated to Jainism

*Written in: Prakrit language



" Which of the following statements is/are correct about Panchayat Samiti?

mm#?ﬂﬂmﬂﬂmm/ﬂmaﬁwb

The strength of a Panchayat Samiti depends on the population in a samiti area,

~

Al the Sarpanchs of Gram Panchayats are not members of Panchayat Samitis at the same
time.
3. The Samiti is equipped with the administrative machinery called the Chief Executive
Officer.

1. U WRATY A R a8 A sterwear w1 iR A #
2. T GaTal & ael AT o @ e # darae SR & waew ad e €
3. WA AET FRER SR e wrafed o F gafeed ¢

Which of the statements above is/are correct? // SURYFd & ¥ FieT TT/A HUT T &/8?

1. Only1
.//Only2and 3
‘e:/z::z;'"“ - 3 tier Panchayati Raj system not
mandatory for states with less
than 2 million population
Zilla District level
Parishad
‘Panchayat Samiti ¥> Intermediate level
Gram Panchayat AY\ Village level
Gram Sabha
1st session of LS and
Lower house/House of People RS
- hich of the fpllowing statements about Lok Sabha are correct? 3 .
l.WThe Loktsabhlal (Hougseto: the P‘eople) :/:skdsuly constltutedc;r the first time on 13f 3688‘ n 13 May 1952

17 April 1952. o .
2. As mpany as seventeen General Elections to the Lok Sabha have been held as of . 3rd Aprll 1952' RaJya Sabha 181'

December 2023.
. Sarvepalli Radhakrishnan was the first Speaker of Lok Sabha. GOHSfIfo&d

Shri. Ganesh Vasudev Mavalankar was the first Deputy Speaker of Lok Sabha.

Council of States

Which of the statements above isjfre correct?
1. Only3and4

2.,0nly1and 4
Onlyland2

Only2and 3 181' speaker Of Ls

M A Ayyangar

4.

*Hindi names of LS/RS adopted on 1954

1st chairman of Rajya Sabha
-1st women speaker of LS: Meira Kumar



*

Dl Moplahs, or Muslim peasants, created a powerful anti-zamindar movement in:

Arger ar THuTl o veh AfFaermen st favedt sreierT @er

3

1. Bengal
2. Uttar Pradesh

‘ﬂ(erala Also known as Malabar
Revolt in 1921

Non-Cooperation Movement started

Consider the followin, regarding the Ct ission and Cq i of
Parliament on th%fﬁcial languages.

. It shall be the duty of the Ct ission to make re i to the
President as to the progressive use of the Hindi language for the official
purposes of the Union.

. There shall be constituted a Committee consisting of 30 members.

. Out of 30 Members of the Committee, 10 shall be members of the House of the
People and 20 shall be members of the Council of States.

-

wN

Which of the statements above is/are correct?

1. 2and3only 2.4 and 3 only
3. 1,2and3 .1 and 2 only

* Joint Committee: it is made up of members of two chambers of bicameral
legislature
* Select Committee: Committee of particular house =RS/LS

‘Parliamentary Committee

‘Permanent Temporary
Term of all members: 1yr  ¢ionin
9
‘No minister can be a member Ad Hoo
Financial >3 1921 on basis of GOl Act of 1919

b

1. ‘Public Accounts Committee ——>22 members (LS: 15 and RS: 7)
2. The Estimates Committee — 30 members Call from LS)
3. Committee of Public —— = 22 members (LS: 15 and RS: 7)

1950 on John Mathai  Undertakings
Committee
recommendation

On recommendation of Krishna Menon
Committee

ARMA
S



" Who is the formal head of the state of India?

R & T 1 TR wo@ Fla g2

1. Finance Minister 1. fw #&&

2. prime Minister ——2 Sz 2 Chairman of NITI AAYOG
President’ 3. Jreger

4. Home Minister 4. Ig F@A

- Nominal Head
-Supreme Commander of all Defence Forces

Head of Zonal Council

Formed from: States Reorganisation Act, 1956

By Bega Begum (wife of Humayun)
/>

— -
Arrange the following mol ents in the chronological order of their
construction.

e TmE! 71 39 Psior & Frargs s 70 & sFaRua w1

. Humayun's Tomb, New Delhi 1. g @ AFaw, 7§ Reeh

2. gfowmgggtaT &1 #Faw, HoRT

3. gl frecht &1 #waw, waew Wl
. i gl #1 Awaw, sk

N R

. Tomb of I'timad-ud-Daulah, Agr:

. Salim Chishti's Tomb, Fatehpur Siki

»

. Rabia Daurani's Tomb, Aurangabad
1. 4,1,2,3
2.1,2,3,4

' 1,3,2,4
4. 2,1,3,4

‘Bibi ka Maq‘t()ara ‘1'
‘By Noor Jahan (wife of Jahangir)

==

- Tomb of [timad-ud-Daulah
- Also known as Jewel Box or

‘By Akbar for Salim Chisti Baccha Tgj
Akbar also built Buland Darwgja (to
commemorate his victory over Gujarat) Charbagh style of architecture

o
- -Dilras Banu Begum—>Wife of Aurangzeb
= who was also known as Rabia Daurani
RS
g

'Bii ka Ma.qbam . >Built by Dilras’s son Azam Shah
-Also known as Dakkhni Tqj



" Which of the following i correct statement about Industrial Policy Resolution 19562
FHeq 1956 ¥ AN ¥ FrfafRa & ¥ sl &1 Fua @ 7

I This resolution formed the basis of the Second Five Year Plan, the plan which tried to build the 1991 NGW lndusﬂ'la' ?ollcg
basis for a socialist pattern of society. — \
Il. This resolution classified industries into two categories only. The first category comprised HH H
industries which would be exclusively owned by the privaté sector. e ‘F’Dl cclllng |ncrea36d \
YR q414T, L] (] .
R it L Sy bl QL o SR 5 Sy 3 Disinvestment of Public Sector
I 9 HFeT A 3GARI B Faer ar A F afiqrr ) geelt Aot F ¥ s wferer ¥ e

e A a0 e *End of License Raj
Which of the statements above is/are correct? // 3URYea # ¥ Hler 71/ FueT T /87

‘/ Only! 2.0nlyll
3. Neither I nor Il 4.Both land Il

Industrial Policy Resolution Mixed economy

1st IPR, 1948 CMain person: Dr. Shyama Prasad Mukherjee)
Govt. monopoly (Atomic Energy, Railways, etc.)
* License Raj Begining

Divided industries into 4
categories

2nd IPR, 1956
« Also known as economic constitution of India
« [ndustries diversification

e Schedule A: Public sector (17)
e Schedule B: Public + Private sector (12)
* Schedule C: only private sector (remaining)

Which of the ing is an example of colonial i in India?
rrafafea & & #ta a1 sma & sitaford e aregeen &1 saEoTE?
I.  Gateway of India, Mumbai_ 1. ﬂzﬁ:&ﬁ\ﬁsﬁm,{ﬁ?

Il India Gate, New Delhi . gRmae, @€ e

1. Onlyl

\l Bothland i

3. Onlyll

4. Neither Inor Il

-Authorised construction in 1913
-Authorised by: Edwin “Governor: George Sydenham Clark
Lutyens in 1920 -Architect: George Wittet
*It is a war memorial in
Kartavya Path



@ Net Investment plus Depreciation gives an estimate of which of the following?

e fder corw Aeae afatla & & frasr s dare?

1. Private investment 1. st faaer

2. Gross Domestic Product 2. W\-ﬂ?{m

3. Personal income 3. safFara s
WGross investment 4. g faaer

Net = Gross - Depreciation

o NDP: Net Domestic Product
ND?P = GDP - Depreciation

Value of all final Goods and
Services produced within the
territory of the country

o NNP: Net National Products
NNP = GNP - Depriciation

Value of all final Goods and

Services produced by the
nationals

® GNP = GDP - Factor Income to
Abroad + F| from Abroad

® GNP = GDP + Net factor income from
abroad

— ~-
Typically, are papers bearing the promise of a future stream of monetary

returns over a certain period of time.

HHAAER W, ¥ FrTTE B § A v ARed el F Alfe Redt &

srfarsr Y 4T T aeT F §

1. wiasfa
2. capitals 2. FRewT

Vbonds 3. @3

4. deposits 4. S#AT

1. securities

Two types

discounted price

[ssued in 3 tenures: 91 days, 182

days, 364 days

1 Demand Deposit: savings account money
2. Term Deposit/Time Deposit: ¥D, RD

- T-Bills: ero coupon bonds sold at a

*

ARMA
S



Generally tribes are found in all parts of India but which of the following area is ™
NOT associated with major tribal population of India?

AT FATaAT SR ¥ & o1 STt § A AT A Il
T8 SR Y T AT AT & ey et &2

1. Jharkhand 1. @REE

2. Lakshadweep islands 2. W@WW

3. Andaman & Nicobar islands 3. 3izA AR feEr gl wqE
4. fewel

VDeIhi
-SC population in % wise: Punjab

~
Consider the eligibility criteria to avail connection under Ujjwala 2.0.

1. Applicant (woman only) must have attained 18 years of age.

2. There should not be any other LPG connection from any OMC in the same
household.

3. Adult woman belonging to any of the following categories - SC, ST, Pradhan
Mantri Awas Yojana (Gramin), Most Backward Classes (MBC), Antyodaya Anna
Yojana (AAY), Tea and Ex-Tea Garden tribes, Forest Dwellers, People residing in
Islands and River Islands, enlisted under SECC Households (AHL TIN) or any
Poor Household as per 14-point declaration.

g -/ﬂ_adult members of the household must have an Aadhar Card and a bank

account.
ich of the statements above is/are correct?
. Only1,2and3 2.0nly1,2and4

3. Onlyland2 4.0nly1,3and 4
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